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L. (20 AZLUU) If the coetticients of static and kinetic friction between the 20-kg block A and the

100-kg cart B are both essentially the same value of 0.5, determine the acceleration of each part for
P =100 N.

P=100 N

Block A (20kg) et

Cart B (100 kg)
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4. (20 azuuu) The gondola which is lifted to a height of 60 m at A. It it 1s released from rest and falls
along the parabolic track, determine the speed at the instant y=10 m . Also determine the normal reac
tion of the tracks on the gondala at this instant. The gondola and passenger have the total weight

2.5 kN=~250kg . Neglect the effects of friction

y,1ﬂm




5.The ping-pong ball has a mass of 2 g. it it struck with the velocity shown, determine how high

h it rises above the end of the smooth table after the rebound. Take e=0.8




